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3rigHO MaTepianis
35| 18 3,9 - - - 10Cs 61 1060 11 22 | 26| 280 12e) CPB| BcuxaHHa aepes 15 NicoBNOPAAKYBaHHA HE
BUSIBNEHO

35| 28 14,5 - - - 10C3+AKb 51 10,80} 1A 23 |1 24| 390 |2e}| CPB| BcuxaHHs gepes 15 -

35 29 53 - - - 10C3+Akb 51 ]0,70)1A) 23 | 24| 320 |2e| CPB| BcuxaHHs gepes 15 -

35 ] 5 0,5 - - - 10C3+Ty 61 |0,50] 2 | 18 | 24| 180 [ 2e | CPB | BCMXaHHs fepes 10 -

o 35 6 1.6 - - - 10C3 56 [0,50] 2 | 177 1 20| 160 j2e| CPB | BcuxaHHsa fepes 10 -

é 36 1 1,4 - - - 9C31Akb 56 |060] 1A| 23 | 26 | 240 j2e| CPB| BcuxaHhs gepes 10 ~il-

@36} 7 21 - - - 10C3+Ak6 58 ]0,70] 1) 22 1 24 330 j2e| CPB ] BcuxaHHsa Oepes 10 -

@' 36 ] 19 4,0 - - - 10C3 46 |060] 1A 20 | 22 | 240 j2el CPB| BcuxaHHs AepeB 10 -

Ol 3] 20 2,2 - - - 10C3k 46 | 040 1A] 20 1 22| 160 [2e| CPB KopeHeBa rybka 10 -

36 | 22 25 - - - 10C3 46 [O50[ 1A 20 | 24§ 200 {2e| CPB{ BouxaHHs aepes 10 -

36 | 23 0,6 - - - 10C3k 46 10,501 1A 19 1 20 ] 180 |2e] CPB KOpEHeBa ryoka 10 -

76 | 12 | 20,0 - - - 10C3+LL4+Akb 54 [065]1A] 24 1 26| 310 | 3 | CPB| BcuxaHHsa aepes 35 -

76 | 18 14,0 - - - 8C3(69)2C3(90) 69 {0,701 1 1 23 | 30| 350 | 3 | CPB| BcuxaHHa pepes 15 -

71 | 34 11,0 - - - 8C3(61)2C3(41) 61 060 1A| 23 | 30| 290 [2e| CPB| BcuxaHHs gepes 10 -

71 | 44 11,5 - - - 5C3(64)3C3(74)2C3(30) 64 |050 2 | 20 1281 190 |2e| CPB| BcuxaHHs fepes 10 -
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1 2 3 4 5 6 9 10 [ 11} 12 | 13 14 15| 16 17 18 19
®g 71] 55 6,1 - - 7C3(79)3C3(60) 79 1060 1] 24 | 32| 270 [2e| CPB| BcuxaHHs aepes 10 -
o 'g 36 | 13 15,5 - - - 10C3 56 |10,70] 1A| 23 | 24 | 320 |2e| CPB | BcuxaHHa aepes 20 ~I-
Beboro 116,7 - - - - - - - - - - - - - - -
3rigHO MaTepianis
3 8 17,0 - - - 9C3(71)1C3(86)+Ak6 71107 1| 25 | 34| 385 |4e| CPB| BcuxaHHs fepeB 15 NicCOBNOPSAKYBaHHS He
BUSABNEHO
3 117 2,0 - - - 10C3+AK6+bn 76 10,70 1A| 27 | 36 | 410 |4e| CPB | BCcuxaHHa gepes 15 -
3 12 2,7 - - - 10C3+Ak6+bn 76 |0,7011A| 27 | 36 | 410 |4e| CPB | BcuxaHHs gepes 15 ~-
3 9 2.9 - - - 10C3+Ak6+bn 76 [0,70] 1A] 27 | 36 | 410 | 4e | CPB | BcuxaHHsa gepeB 15 -
3 4 11,0 (1) 58 5,8 10C3+AkO+bn 66 |0,70| 1A 26 | 34 | 400 {4e| CPB| BcuxaHHs pepes 20 -
3 3 2,8 - - - 10C3+Ak6+bn 76 10,70/ 1A| 27 | 36 | 410 |4e| CPB| BcuxaHHs aepes 15 ~Il-
8 8 3,0 - - ~ 10Ca+bn 43 |0,70| 1A| 19 | 26 | 260 |2e| CPB| BcuxaHHa fAeper 10 ~ll-
o 9 8 2,8 - - ~ 10C3k+[up+bn 43 |06511B6] 21 | 26 | 280 [2e| CPB| BcuxaHHs gepes 10 ~l/-
§ 9 2 2,5 - - - 10C3+Jing+bn 44 [0,70] 1A| 20 | 26| 275 |2e| CPB| BcuxanHs gepes 10 -
% 9 7 2.0 - - - 9C31bn 43 10,70( 16| 21 | 28 | 285 [2e| CPB| BcuxaHHs aepes 10 /-
5 14 7 2,9 - - - 8C32bn+/lng, 44 1065 1A 20 | 26 | 235 3 | CPB| BcuxaHHs gepes 10 ~l-
3 14 5 6,6 - - - 10C3+[3 58 |1065] 1 22 | 30 | 295 3 | CPB| BcuxaHHs nepes 10 -
14 | 4 8,5 - - - 9C3(76)1C3(56)+[13+Bpc 76 10,70 1A| 27 | 40 | 400 | 3 | CPB| BcuxaHHs gepes 10 -
14 2 45 - - - 10C3 52 10,80] 1A} 22 } 26 | 365 | 3 | CPB| BcuxaHHs gepeB 10 ~ll-
35 6 3,1 - - - 10C3+AKb 61 |0,70| 1A| 25 | 32 | 380 | 3 [ CPB| BcuxaHHsa aepes 10 -
35 3 47 - - - 10C3+AkG 61 |0,75| 1A| 25 | 32 | 400 | 3 [ CPB| BcuxaHHs aepes 10 ~1/-
36 | 14 17.5 - - - 8C32AkH6 66 [0,7511A] 27 | 34 | 365 | 3 | CPB| BcuxaHHs gepes 20 ~lI-
36 5 2.2 - - - 8C32AkH6 66 [0,75| 1A| 26 | 32 | 350 | 3 | CPB| BcuxaHHst pepeB 15 ~/-
37 4 10 - - - 10C3+Akb 66 |085|1A]| 27 | 32 | 490 | 3 | CPB | BcuxaHHA fepeB 10 ~I-
37 | 12 2.6 - - - 9C31Ak6 66 |0,70| 1A| 25 | 32| 350 | 3 | CPB | BcuxaHHA BepeB 10 -
37 | 15 1.7 - - - 9C31Ak6 66 [0565]1A] 256 | 32 | 275 | 3 | CPB | BcuxaHHs aepes 10 ~l-
37 1 0,5 - - - 10C3+bpc 66 |0,65| 1A} 26 | 30 | 370 3 | CPB | BcuxaHHs oepes 10 ~ll-
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1 2 3 4 5 6 8 9 [ 10 11§ 12 ] 13 14 |15 16 17 18 19
37 ] 2 0.8 - - 8C32Ak6 66 [0,70] 1A| 26 [ 32 | 325 | 3 | CPB [ BcuxaHHA gepes 10 -
38| 15 17 - - - 8C3(71)1C3(86)1C3(51) 71 {0751 1| 25 | 30 | 395 | 4e | CPB| BCuxaHHA gepes 10 ~I-
38 | 22 15 - - - 10C3+Ak6+bn 75 10,75 1 26 | 30 | 430 | 4e | CPB | BcuxaHHs nepes 10 ~l-
39| 7 1 - - - 10Cs3 97 10,70] 1 1 29 | 36 | 445 | 4e | CPB | BcuxaHHsa gepes 10 /-
39| 27 1 - - - 7C3(60)3C3(30)+3 60 {0501 4| 12 | 18 70 | 4e | CPB | scuxauusa pepes 10 -
39 [ 28 0,9 - - - 8Ca(81)2C3(51)+Ckp 81 [060] 3 ] 20 | 32| 195 | 4e | CPB | BCcuxaHHs gepes 10 /-
39 | 47 0,6 - - - 8C3(100)2C3(70) 100|060 3 [ 22 | 36 | 215 4 | CPB | BCWxaHHA Aepes 10 -
39| 48 0,7 - - - 8C3(100)2C3(65) 100)0,65] 2 | 25 | 34 | 325 | 4 | CPB| BcuxaHHsA gepes 10 -
39 | 36 0,7 - - - 8C3(70)2Ca(45) 70 10,65| 1 23 | 32 | 270 | 4e | CPB | BcuxaHHsA Aepes 15 -
39 | 32 1,3 - - - 6C3(100)4C3(70) 100{065| 3 | 23 | 36 | 220 | 4e | CPB | BCuxaHHs gepes 10 ~I/-
40 | 37 2,1 - - - 10C3+Ak6 76 0,701 1A| 27 | 32 | 410 | 4e | CPB | BcuxaHHsa gepes 10 ~l-
40 | 34 2,7 - - - 10C3+Akb 76 [0,70| 1A | 27 | 32 | 410 | 4e | CPB | BcvxaHHs feper 10 ~Il-

o) 401 3 16 - - - 8C3(75)2C3(55)+Bn 75 10,70] 1§ 26 | 32| 385 | 4e | CPB| BcuxaHHs fiepes 10 -

§ 40 5 10 - - - 10C3+bn 75 10,70| 1 26 | 32 | 385 | 4e | CPB| BCWxaHHs Aepes 10 ~Il-

g_ 40 | 25 8,2 - - - 7C3(71)2C3(51)1C3(86) 71 10,701 1 | 25 [ 30 | 355 | 4e | CPB| BcvxaHHs fepes 10 -

8 41 4 3 - - - 10Ca+Ak6 80 |10,75| 1| 27 | 32 | 440 | 4e | CPB| BcuxaHHs gepes 10 -
44 | 19 0,8 - - - 10C3+bpc 60 |0,70] 1A| 23 | 30 | 335 | 4e [ CPB | BCHXaHHs gepes 10 -
44 | 41 2,1 - - - 10C3+bpc 71 {0,701 1 | 24 | 28 | 360 | 2e | CPB | BcuxaHHsa pepes 10 -
44 | 58 0.4 - - - 10C3+Ak6 71 10,701 1A} 26 | 32 | 400 | 2e | CPB| sBcwxanus gepes 10 ~1-
44 3 0,7 - - - 9C31Knr+Oc+Knsi+Bpn 36 [0,65] 1 14 | 22 | 145 | 4 | CPB| BcuxaHHs gepes 10 -
45 | 27 06 - - - 4C33Bn10c2Bpn+Ty 55 |0,7011A| 22 | 28 | 260 | 2e | CPB | BcuxaHHs gepes 10 -
45 | 25 0,3 - - - 10C3+Bn 46 |080[1A] 21 | 26 | 340 | 2e | CPB| BcvxaHHs aepes 10 ~Il-
45 | 20 0,2 - - - 10C3 84 10,65 1 28 | 38 | 400 j 2e | CPB | BcuxaHHs DepeB 20 -
45 | 24 0,4 - - - 9C31f3 85 10,70 1 27 | 36§ 400 | 2e | CPB| BcuxaHHs aepes 10 ~ll-
45 | 23 0,9 - - - 7C33AKE 75 10,701 1 26 | 36 | 300 | 2e | CPB | BcuxaHHs fepes 10 -
46 | 17 0,8 - - - 10Ca+Mnp 86 |0,70) 1A 29 | 40 | 460 | 2e | CPB | BcuxanHs aepes 10 -
46 | 18 2,1 - - - 8Ca2Ak6+[]a+Ina+Bpc 71 10,751 1A 27 | 34 | 375 | 2e | CPB | BCUXaHHSA Aepes 10 ~l-
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471 6 2 - - 7C32/[131Ak6 79 |0,70| 1A] 28 | 40 | 365 | 4e [ CPB | BcuxaHHs nepes 15 -

48 | 25 0,2 - - - 7C33AKG+Epc 66 |[065]1A[ 27 [ 32 ] 300 | 4 | cPB| Bcuxanua nepes 10 ~ll-

49 | 14 37 - - - 10Ca+Bny 80 |075] 1| 26 | 32 [ 425 | 2e | CPB | BcuxaHHs aepes 10 -

49 | 38 25 - - - 9Ca1Bn 46 |080]| 1A| 21 | 24| 325 [ 2e | CPB| BcuxaHus nepes 10 ~ll-

49 1 22 - - - 10C3 86 10,70] 1) 27 | 32| 420 | 2e | CPB| BcuxaHus pepes 10 ~I-

49 | 2 1,5 - - - 10C3 86 1070] 1 [ 27 | 32 ] 420 | 2e | CPB | BcuxanHa nepes 10 -

49 3 0,6 - - - 9C3(96)1C3(66) 96 10,70 1| 29 | 36 | 445 [ 2e | CPB| BcuxaHHs aepes 10 ~l-

50 { 43 4,2 - - - 10C3 42 1080J1A[ 20 | 24 ] 300 [ 2e | cPB | BcuxaHHs aepes 10 -

50 | 36 1,7 - - - 8C326n 49 |10,75[ 16| 25 | 30 | 360 | 2¢ | CPB| BcuxanHs nepes 20 -

50 | 45 26 - - - 9C3(55)1C3(70) 55 |080j1A| 23 | 26 | 390 [ 2e | CPB | BcuxaHHs aepes 10 -

51 7 1,8 - - - 7Ca3bn 49 [0,80] 16| 256 | 28 | 370 3 | CPB | BcuxaHHs gepes 20 ~I/-

o 51 2 6,3 - - - 7Cs1up1Bn(42)1Bn(32)+Nna+Knr | 42 10,751 16} 22 | 26 | 280 | 3 | CPB| BouxanHs aepes 20 -

0

% 51 2,9 - - - 7Ca2nna1Bn+Knr+Mxu+Oc+xr | 42 1080[ 16| 22 [ 26 [ 300 | 3 | CPB| BcuxaHHs pepes 20 ~ll-

2154 4 7.7 - - - 10C3 59 |075|1Af 24 | 28 ) 385 | 3 | CPB| BcuxaHHs nepes 10 ~ll-

R{54] 15 8,7 - - - 10C3 59 |065] 1122 126 295 | 3 | CPB| BecuxaHHs nepes 10 -

55 1 8,3 - - - 10C3+[a+Bpc 86 1065| 1| 27 | 40| 390 | 3 | CPB| scuxaHHs gepes 15 ~I/-

55 1 22 36 - - - 10C3+Bpc 86 j065] 1] 27 | 38| 390 | 3 | CPB| BcuxaHHs aepes 15 -

56 6 25 - - - 10C3 59 [0,7011A]| 24 | 30 ] 360 [ 3 | CPB| BcuxaHHa nepes 10 ~lf-

6 | 5 0,2 - - - 10Cs 50 1015] 1 1 21 {26 60 3 | CPB | BcwxaHHs pepes 10 ~Il-

56 | 15 5,9 - - - 8Ca(56)2C3(66)+bn 56 |0,7011A) 22 | 26 | 325 | 3 | CPB| BcuxaHHs aepes 15 /-

56 | 4 2,7 - - - 10C3 59 {0,701 1] 21 | 26| 300 | 3 | CPB| BcuxaHun nepes 10 -

56 2 0,8 - - - 10C3+Bn 54 [030] 1] 20 | 26 ] 115 | 3 | CPB| BcuxaHHa aepes 10 ~ll-

56 | 1 0,5 - - - 10Ca+6n 54 {060] 11 20| 26| 240 | 3 | CPB| scwxanHs nepes 10 -

57| 3 1,4 - - - 9C31AK6+En 66 10,70/ 1A} 26 | 30 | 390 | 3 | cPB| Bcuxanus nepes 15 -

571 2 0,3 - - - 9C31Bpc+AKG 66 {030 1124 | 28] 135 | 3 [ CPB| scuxanus nepes 10 -

57 1 0,9 - - - 9C31AKD 66 10,70/ 1A} 25 | 30 [ 365 [ 3 | CPB| BcuxarHs nepes 10 ~I/-

60 | 11 10 - - - 10C3 64 10,75] 1 | 24 | 28 | 380 | 4e | CPB| BcuxanHsa gepes 15 -
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60 | 23 17 - 10C3+Bn 74 10,70] 1 ] 25 | 28 | 390 | 4e | CPB | BCuxaHHs gepeB 10 -
2163 31 3,4 - - - 10Cs 55 10,75| 16| 25 | 30 | 400 | 2e | CPB | BcuxaHHsa fepes 15 -
§ 63 | 12 0,3 - - - 10C3 66 1060 1 [ 24 | 30| 305 | 2e | CPB | BCcuxaHHs pepes 20 ~lI-
3] 63| 23 54 - - - 10Ca 60 [0,70| 1A| 24 | 28 | 360 | 2e | CPB | BcuxaHHs Aepes 15 -
a2le4] 19 20 (1) 17,91 17,9 8C31Bn1AKE 48 10,80[ 16| 24 | 28 | 345 | 2e | CPB | BCcuxaHHsa pepes 25 ~I-
8 [ 86 2 2,8 - - - 10Ca 61 ]0,751 1A | 24 | 26 | 380 | 2e | CPB | BcuxaHHs Aepes 15 -
86 3 3 - - - 10Cs 56 [0,70] 1A] 24 | 30 | 360 | 2e | CPB| BcuxaHHsa gepes 15 -
Bcboro 339,4 - - - - - - - - - - - - - - -
3rigHo MaTtepianis
12 3 6,2 - - - 10C3+bn+Ak6 831071 1 25 | 36 | 390 | 2e | CPB| BcuxaHHA aepes 20 nicoBnopsaKyBaHHA He
BMSIBNIEHO
12 5 4.9 - - - 10Cs 66 10,701 1] 21 | 26| 315 [2e| CPB| BcuxaHHs gepeB 20 -
12 1,4 - - - 10C3 62 [080]| 1 23 | 28 | 390 |2e| CPB| BcuxaHHa gepes 20 -
12 | 11 15 - - - 10C3 51 1080] 1] 20 | 26| 320 {2e]| CPB| BcuxaHHsa gepes 15 -
12 | 12 1,4 - - - 10C3 66 |0,80| 1| 24 | 26 | 430 |2e]| CPB| BcuxaHHsa gepes 25 -
19 1 21,4 - - - 10C3+Axb 83 |1080] 1] 25 | 32 | 455 |2e| CPB| BcuxaHHs gepes 20 -
) 19 9 2,9 - - - 10C3 71 10,70 1 23 | 32 | 340 |2e]| CPB| BcuxaHHs nepes 20 -
3119 ] 10 2,5 - - - 10C3+Ak6 61 |0,80[1A]| 23 | 26 | 385 [2e| CPB | BcuxaHHAa pepes 15 -
g 19 | 15 3 - - - 10C3 811071 2] 23 [26] 340 [2¢e| CPB| BCcuxaHHs aepes 20 -
219 17 0,3 - - - 10C3 71 1 08| 1 22 | 26 | 370 |2e]| CPB | BcuxaHHsa gepes 15 -
119 ] 18 5.1 - - - 10C3 61108 1 22 | 22| 350 |2e| CPB| BcuxaHHs fepes 20 -
19 | 22 2,8 - - - 10Cs 61 10,704 1| 22 | 22| 320 {2¢e]| CPB| BcuxaHHA nepes 15 ~1l-
19 | 23 2,2 - - - 10C3 61 10,701 1 | 21 [ 22 | 330 [2el CPB{ BcuxaHHa aepes 20 -
37| 2 20,2 - - - 9C3(69)1C3(81) 69 10,80f 1) 22 | 24 ] 390 |[2e] CPB| BcuxaHHsa nepes 20 -
37 3 1,2 - - - 10C3+Ak6 61 ] 08 |1A] 23 | 28 | 420 |2e| CPB| BcuxaHHs nepeB 20 ~l/-
37 5 1,3 - - - 4C36Ak0 81 107 ] 1] 24| 32| 235 | 2¢ | CPB | BcuxaHHs aepes 20 -
41 1 7.7 - - - 10C3 51 [0,751 2 | 17 1 20| 260 |2e| CPB | BcuxaHHs fepes 15 ~ll-
41 3 23,3 - - - 10C3+Ak6 66 (08| 2| 20 | 24| 330 |2e| CPB| B&cuxaHHs gepes 20 -
41 7 56 - - - 10C3 58 | 0,7] 2] 19 |1 22| 260 |2e| CPB| BCcuxaHHa geper 15 ~Il-
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1 3 4 5 6 7 8 9 10 [ 11] 12 | 13 14 15| 16 17 18 19

41 11 7.1 - - 10C3 66 |08 2| 20| 22| 315 |2e| CPB| BcuxaHHsa fepes 20 ~ll-

41 ] 12 1,3 - - - 10C3 58 1081 2] 18 1 20] 250 |2e| CPB| BcuxaHHs pepeB 15 ~I/-

42 3 7.3 - - - 10Ca+Akb 76 [ 0,7 124126 ]| 370 [2e| CPB| BcuxanHs gepes 20 ~l-

42 5 3.6 - - - 10C3 66 1071 2] 19 ] 20 ) 275 |2e]| CPB| BcuxaHHa fepeB 15 ~ll-

42 7 6,3 - - - 10C3+Ak6 66 | 07 ] 1 23 | 26 | 360 |2e] CPB| BcuxaHHs gepes 20 -

42 8 9.1 - - - 10C3 66 1071 2] 20} 20| 280 |2e] CPB| Bcvxannus nepes 15 -

43 1 2,1 - - - 10C3+Ak6 76 107 | 1 24 | 26 | 360 ]| 2e | CPB | BcuxaHHsA gepes 20 ~-

43 2 7.4 - - - 10C3+C6+AKb 66 { 0,7 ] 1 22 | 24| 340 (2e| CPB BCUX2HHA Jepes 20 -

40 9 35 - - - 10C3+Ak6 64 | 08 ] 1 24 | 24 | 400 {2e| CPB| BcuxaHHs gepeB 15 ~ll-

40 | 13 7.2 - - - 10C3 76 [ 071 2 | 22 | 24| 310 [2e| CPB | scuxaHHs gepes 20 ~l-

40 | 16 42 - - - 8Ca(65)2C3(77) 65 108 | 1|22 ] 24| 360 {2e| CPB| BcuxaHHs fepeB 20 -
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